5 Classifying Polygons GEERGS

L} In the figure below, outline a 4-sided
polygon that is not a parallelogram. What
is the most precise name for the shape?

Bl Connect the dots to form polygons.

Explain.
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Connect the dots to form non-polygons.

Bl Connect the dots to form polygons.

Sketch two perpendicular lines, one 8 cm
long, the other 6 cm long. Draw them so
that each line is bisected by the other. Add
a vertex at the end of each line. Draw a
polygon connecting the vertices. Name the
polygon as precisely as possible.

Connect the dots to form non-polygons.

Ed In cach figure below, outline a triangle. The
triangles must NOT be the same size. What
do they all have in common?
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2 Classifying Triangles

Bl Describe what type of triangle is given below.

Ed Determine the measure of ZABC in the
triangle below.

B <
Aﬁc

[] Determine the measure of ZABC in the
triangle below.

EY Describe what type of triangle is given below.

El Describe what type of triangle is given below.

B
B @
Scm
3cm
A c A ¢
4cm

E] Determine the measure of ZCAB in the
triangle below.

B
i Determine m4B in the triangle below.

B
i : Tem
A c
S5cm
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